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Use sigma notation to write the series. — ———+——=—-+"
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Find parametric equations for the ellipse with (~1,7) and (~1, —5) as foci, . | : SCORE: /20PTS

and (3,1) as one endpoint of the minor axis.
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Find the coefficient of Jc16 y42 in the expansion of (9x =11y )25 L : - SCORE 420 PTS :1.:- .
Your final answer may use +, —, X and positive powers. It may NOT use -+, |, '

+ negatwe exponents NOR fractlons
It does NOT need to be s1mphﬁed into a single number Show all work 2y demonstrated in lecture '
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: ' | Cn(n+1 2n+1 ) o
-Prove by mathematwal 1nduct10n 221 ( )3( - ) for all mtegers nzl. - - SCORE: ____
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'I-IINT The a gebra in the proof is much eaﬂer if you use factormg -
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Find rectangular equatlol-ls correspondmg to the parametnc equatlons X = 3—_—-;, y= r—_—_—z— - . SCORE
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Consider the sequence defined recursively by @, = n = da, ., 'a', ==-1. SCORE: 1T0PPTS

Find the first 4 terms of the sequencé, and write them asalist. -~ - _ A
a,=2"-2a,= 4+32=7
Gy = B~ 3a,=d-2l=-12L
G, = 4720, llot2b= 52
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Last year was a good year for the Lee $ famliy busmess Durmg January 2012 revenues were $1 8,371  SCORE: ___/30PTS
and operatmg costs were $5 841, - \ ‘ : T

NOTE You must show the use of the relevant seguence and/or series formulae to earn full credlt for the following Eroblems

2] If revenues each month were 1.6% hlgher than revenues the previous month, _
" what was the total revenue from January 2012 to August 2012 7
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bl - If operatmg costs each month decreased by a fixed amount {in doilars) from the prevmus month
and operating costs in. August 20 12 were $4 742 what were the total operanng costs from J anuary 20 12 to December 2012

4742 SEL + 7&
l_; =157

2 Cl (b%) - \Q «57)) 5*59 750




